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1.	 5>15>20>30	Mfpa	vz;fspd;	kP.ngh.k	vd;d?

	

5 5, 15, 20, 30

31, 3, 4, 30

21, 1, 4, 30

1, 1, 2, 1

	 5 × 3 × 2 × 2 = 60
	 kP.rp.k	vd;gJ	nfhLf;fg;gl;l	vz;fs;	KOtJkhf	(mjhtJ	kPjpapd;wp)	tFglf;$ba	

kpff;	Fiwe;j	nghJthd	klq;F	nfhz;l	vz;zhFk;.

2.	 5>	15>	20>	30	Mfpa	vz;fspd;	kP.ngh.t	vd;d?

	

5 5, 15, 20, 30

1, 3, 4, 6

	 nfhLf;fg;gl;l	vz;fspd;	kP.ngh.t	=	5

	 kP.ng.t	 vd;gJ	 nfhLf;fg;gl;l	 midj;J	 vz;fspd;	 kpfg;nghpa	 nghJthd	

tFj;jp.

3.	 ,U	vz;fspd;	HCF	�2,	me;j	vz;fspd;	LCM	�80.	xU	vz;	36	vdpy;>	kw;nwhU	

vz;	vJ?

	 kw;nwhU	vz;		 = HCF LCM×
xU	vz;

	 	 = 
12 180

36
×

  = 60

*.E.\. & *.V.k (LCM & HCF)
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4.	 ,U	vz;fspd;	HCF	99.	me;j	,U	vz;fs;	198>1386	MFk;	vdpy;	me;j	,U	

vz;fspd;	LCM	vd;d?

	 	 LCM = 
HCF

LCM =
,U	vz; fspd;	ngUf; fw; gyd;

   = 198 1386
99
×

   = 2772   
	 gpd;d	vz;fSf;F	HCF	kw;Wk;	LCM	fhZjy;

	

1.	 nfhLf;fg;gl;l	gpd;d	vz;fspd;	HCF

	 	

HCF
LCM

=
njhFjp	vz; fspd;	

gFjp	vz; fspd;	

2.	 nfhLf;fg;gl;l	gpd;d	vz;fspd;	LCM

	 	

LCM
HCM

=
njhFjp	vz; fspd;	

gFjp	vz; fspd;	 HCF

5.	 nfhLf;fg;gl;l	gpd;d	vz;fspd;	HCF	If;	fhz;f

	

8 22 10, ,
18 81 27

	 njhFjp	vz;fspd;	HCF		 	 gFjp	vz;fspd;	LCM

	 2 8, 22, 10

4, 11, 5

	 	 	 	 	 318, 81, 27

3 6, 27, 9

3 2, 9, 3

2, 3, 1

	

	

 HCF = 2     LCM = 3 × 3 × 3 × 2 × 3 = 162

	 vdNt	nfhLf;fg;gl;l	gpd;d	vz;fspd;	
1
81

HCF = 	
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6.	 nfhLf;fg;gl;l	gpd;d	vz;fspd;	LCMIf;	fhz;f

	

20 15 60, ,
105 90 75

	 njhFjp	vz;fspd;	LCM	 	 	 gFjp	vz;fspd;	HCF

 

5 20, 15, 60

3 4, 3, 12

4 4, 1, 4

1, 1, 1      

5105, 90, 75

3 21, 18, 15

7, 6, 5   
 5 × 3 × 4 = 60     5 × 3 = 15

	 vdNt	nfhLf;fg;gl;l	gpd;d	vz;fspd;		
60 4
15

LCM = =

7.	 ,U	vz;fspd;	LCM	MdJ	me;j	,U	vz;fspd;	HCF	Nghy;	5	klq;F	mjpfk;.	

NkYk;	LCM	IAk;	 	HCF	IAk;	 	$l;bdhy;	300	fpilf;fpd;wJ.	xU	vz;	125	

vd;why;	kw;nwhU	vz;		vd;d?

 LCM  = 5HCF
 LCM +HCF  =  300
    5HCF +HCF  =  300
  6HCF  =  300
    HCF  =  50
  ∴ LCM  =  5 × 50 = 250
  LCM = 250

       xU	vz;	x	 = 250	

 kw;nwhU	vz;	 =  HCF LCM×
=kw; nwhU	vz;

xU	vz;

   = 
50 250 100

125
×

= =
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8.	 ehd;F	fbfhuq;fs;	kzp	xypf;Fk;	Neuq;fs;	KiwNa		5	tpdhbfs;>	10	tpdhbfs;>	

15	tpdhbfs;>	 20	tpdhbfs;.	,e;j	ehd;F	 	fbfhuq;fSk;	Nrh;e;J	xNu	Neuj;jpy;	

vj;jid	Kiw	xU	kzp	Neuj;jpy;	xypf;Fk;?

	

5 5, 10, 15, 20

21, 2, 3, 2

1, 1, 3, 2
	 LCM = 5 × 2 × 3 × 2 = 60 
	 	 ehd;F	fbfhuq;fSk;	xNu	Neuj;jpy;	xypf;f	60	tpdhbfs;	Njit

	 	 60	tpdhbfspy;	1	Kiw	xypf;Fk;

	 	 1	kzp	Neuj;jpy;	(60	×	60	tpdhbfs;)	=	60	Kiwfs;

9.	 290>	 460	kw;Wk;	 552	Mfpa	vz;fis	xU	kpfg;nghpa	vz;	tFf;Fk;NghJ>	

kPjpfs;	KiwNa	4>5	kw;Wk;	6	fpilf;fpd;wJ.	vdpy;	me;j	kpfg;nghpa	tFf;Fk;		

vz;	vJ?

	 ⇒   HCF of (290 – 4), (460 – 5), (552 – 6)
 ⇒   HCF of 286, 455, 546

	 	

13 286, 455, 546

22, 35, 42

  kpfg;nghpa	tFf;fk;	vz;		=  13

1.	 ve;j	kPg;ngU	vz;zhy;	3322	kw;Wk;	3832	vd;w	vz;fis	tFf;Fk;	NghJ	kPjp	

7	fpilf;Fk;?

	

3 3 2 2
7

3 3 1 5   

3 8 3 2
7

3 8 2 5  
 3315	kw;Wk;	3825	-f;F	kP.ngh.t	fhz;f
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3825
3315

510 3315
 3060

 255 510
  510
     0

3315

	 kP.ng.t	=		2��

2.	 ,U	vz;fspd;	kPg;ngU	nghJ	fhuzp	12>	kPr;rpW	nghJ	klq;F	144>	xU	vz;	

36	vdpy;	kw;nwhU	vz;izf;	fhz;f.

	 x × y = kP.ngh.t.	×	kP.ngh.t

 36 × y = 12 × 44
	 y	 	 =	 �8

3.	 3:4:5	vd;w	tpfpjj;jpy;	cs;s	%d;W	vz;fspd;	kP.rp.k.	240	vdpy;	,tw;wpd;	

kP.ngh.t.	vd;d?

	 kP.rp.k		 = tpfpjq;fspd;	kP.ngh.t	 ×	 kP.ngh.t

	 240	 = 60 ×	 kP.ngh.t 	
	 �	 =	 kP.ngh.t

4.	 ,U	vz;fspd;	kP.rp.k	MdJ	mtw;wpd;	kP.ngh.t.	tpd;	14	klq;fhFk;.	kP.;rp.k	

kw;Wk;	kP.ngh.t	tpd;	$Ljy;	600	xU	vz;	280	vdpy;	kw;nwhU	vz;zhdJ.

	 kP.ngh.k		 = 14		 ×  kP.ngh.t	..................... (1)
 kP.ngh.k		 +     kP.ngh.t		 =  ..................................... (2)
 x    =     280
 rkd;ghL	(1)>	(2)	ypUe;J

	 14	kP.ngh.t		+     kP.ngh.t		 =  600
 15	kP.ngh.t		=  600
 kP.ngh.t		 =  14 ×  40
 		 =  560
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 x × y = kP.ngh.k		 ×  kP.ngh.t

	 280  × y = 560  ×   40
	 y	 =	 80

5.	 xNu	 ,lj;jpy;	 Jtf;fp	 xNu	 jpirapy;>	 A,B,C vd;gth;fs;	 nrt;tf	 tbt	

G+q;fhit	Rw;wp	xLfpd;wdh;.	xUKiw	Rw;wp	tu	A	2�2	tpdhbfSk;>		B	�08,	C	
�98	tpdhbfSk;	vLj;Jf;	nfhs;fpd;wdh;.	Xlj;	njhlq;fpa	gpwF	mNj	Jtf;fg;	

Gs;spapy;	,e;j	%tUk;	vj;jid	tpdhbfSf;Fg;	gpwF	re;jpg;ghh;fs;?

	
2 252, 308, 198

2126, 154, 99

3 63, 77, 99

7 7,77, 11

111, 11, 11

1, 1, 1

	 	 LCM =     2 × 2 × 3 × 3 × 7 × 11
      =     2772 tpdhb

	 	 	 	 	 	 =     46 epkplk;		12 tpdhb

6.	 xU	 rhiyapy;	 cs;s	 Nghf;Ftuj;J	 rpf;dy;	 tpsf;F	 40	 tpdhbfSf;F	 xU	

Kiw	 khWfpwJ.	 mLj;j	 re;jpg;gpy;	 cs;s	 Nghf;Ftuj;J	 rpf;dy;	 tpsf;F	

32	 tpdhbfSf;F	 xUKiw	 khWfpwJ.	 ,uz;Lk;	 xNu	 Neuj;jpy;	 khwpdhy;	

kPz;Lk;	mit	,uz;L	xNu	Neuj;jpy;	khWtjw;F	vLj;Jf;	nfhs;Sk;	fhyk;	

vt;tsT?

	 2 40, 32

2 20, 16

210, 8

5 5, 4

41, 4

1, 1

	 	 LCM =    160 tpdhb
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7.	 %d;W	 vz;fspy;	 tpfpjq;fs;	 35:55:77	 mtw;wpd;	 kPg;ngU	 nghJ	 fhuzp	 24	

vdpy;	mt;ntz;fs;	ahit?

	 tpfpjk;	 	 = 35 : 55 : 77 kP.ngh.t			= 24
 me;j	vz;fs;	 = 35 × 24, 55 × 24,  77 ×24
    = 840,          1320,     1848

8.	
� � 2 �, , ,
� � 9 2� 	kP.ngh.t	fhz;f

	 kP.ngh.t	 = (1,5,2,4) 1
(3,6,9,27) 54

kP.ngh.t

k.P rp.k

	 	 = 1
54

9.	 ,U	 vz;fspd;	 $l;Lj;njhif	 20	 kw;Wk;	 mtw;wpd;	 ngUf;Fj;	 njhif	 96	

vdpy;	me;j	,U	vz;fspd;	kP.ngh.t.	fhz;f.

	 tpfpjk;	 = 20
 ngUf;Fj;	njhif	 = 96
 20, 96 Mfpa	vz;fSf;F	HCF fhz;f

	 						

4 20, 96

5, 24 	 HCF = 4
10.	 2112	kw;Wk;	2792	Mfpa	vz;fis	ve;j	kPg;ngU	vz;zhy;	tFj;jhy;	kPjp	4	

fpilf;Fk;?

	

2 1 1 2
4

2 1 0 8

2 7 9 2
4

2 7 8 8  
 2108>	2788	-f;F	kP.ngh.t	fhz;f

	

2788
2108

680 2108
 2040

     68 680
  680
     0

2108

	 kP.ng.t	=		�8
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12.	 ve;j	kpfr;rpwpa	vz;iz	5	kw;Wk;	7My;	tFf;Fk;NghJ	kPjp	KiwNa	4	kw;Wk;	

6	fpilf;Fk;?

	 kPjp	=    

5 7
4 6
1 1

– –

	 LCM (5, 7) = 35.
 me;j	vz; = 35 – 1 = 34

13.	 5	 kzpfs;	 2>4>6>8	 kw;Wk;	 10	 tpdhbfs;	 ,ilntspapy;	 xypf;fpwJ.	 mit	

xNu	Neuj;jpy;	xypf;fj;	njhlq;fpdhy;	20	epkplj;jpy;	vj;jid	Kiw	xd;whf	

xypf;Fk;?

 LCM = 120 tpdhb

	 	 	 = 2 epkplk;

	 2	 epkplq;fSf;F	 xUKiw	 midj;J	 kzpfSk;	 xd;whf	 xypj;jhy;	 mLj;j	 20	

epkplq;fspy;>

	 	 	 = 
20 1
2

+

	 	 	 = 10 + 1
  	 = 11 Kiw	xd;whf	mbf;Fk;

14.	 ,uz;L	 igfspy;	 144fpNyh>	 192fpNyh	 msTila	 jhdpaq;fs;	 epug;gg;	

gl;Ls;sJ.	mitfs;	xNu	msTila	rpwpa	igfspy;	epug;gg;gl	Ntz;Lnkdpy;	

me;jg;	igapd;	mjpfgl;r	vil	vd;d?

	 2144, 192

2 72, 96

2 36, 48

218, 24

3 9, 12

3, 4

	 	 HCF = 2 × 2 × 2 × 2 × 3 = 48
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15.	 ,U	 vz;fspd;	 $l;Lj;njhif	 187.	 NkYk;	 mtw;wpd;	 kP.ngh.t.	 17.	 ,e;j	

epge;jidiag;	G+h;j;jp	nra;af;$ba	N[hbfspd;	vz;zpf;if	vj;jid?

	 $Ljy;	 = 187
 kP.ngh.t	 = 17
 $Ljy;	 = 187
 me;j	vz;fs;	17a, 17b
 17a  +  17b = 187
            a + b = 11
 a +b = 11 - f;F	,izg;gfh	vz;fs;	fhz;f

 (1, 10)
 (2, 9)
 (3, 8)
 (4, 7)
 (5, 6)
 nkhj;jk;	= 5 N[hbfs;

16.	 ,U	 vz;fspd;	 kPr;rpW	 nghJ	 klq;F	 mjd;	 kPg;ngU	 nghJ	 fhuzpapd;	 45	

klq;F.	xU	vz;	125	Mf	cs;sJ	kw;Wk;	kPr;rpW	nghJ	vz;	125	Mf	cs;sJ	

kw;Wk;	kPr;rpW	klq;F.	kPg;ngU	nghJ	fhuzpapd;	$Ljy;	1150	vd;W	,Ue;jhy;	

kw;nwhU	vz;	vd;d?

	 LCM  = 45 HCF  .................... (1)
 LCM + HCF = 1150  .................... (2)
 xU	vz;	x  =  125
 rkd;ghL	(1)>	(2)	...ypUe;J

	 45	HCF  +  HCF = 1150
          46 HCF = 1150
	 	 	 HCF	 =	 2�
   LCM = 45 × 25 =  1125
   x × y = HCF  ×  LCM
 kw;nwhU	vz; y = 225
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17.	 %d;W	 egh;	 xU	 tl;l	 tbt	 muq;fj;ij	 xNu	 ,lj;jpypUe;J	 xNu	 Neuj;jpy;	

xNu	 jpirapy;	 elf;f	 Muk;gpf;fpwhh;fs;.	 Kjyhkhth;	 xU	 KOr;Rw;iw	

120	 tpdhbfspYk;>	 ,uz;lhkhth;	 150	 tpdhbfspyk;>	 %d;whkth;	 80	

tpdhbfspYk;	 epiwT	 nra;fpd;wdh;.	 mg;gbahdhy;	 %d;W	 NgUk;	 vt;tsT	

Neuk;	fopj;J	Muk;gpj;j	,lj;jpy;	re;jpj;Jf;	nfhs;thh;fs;?

	 120, 150 kw;Wk;	80 Mfpa	vz;fSf;F	LCM vLf;f	 
 LCM = 1200 tpdhb

	 LCM = 20min
 %d;W	NgUk;	Muk;g	,lj;ij	mila	20	epkplq;fs;	MFk;.

18.	 ,U	vz;fspd;	kP.rp.k>	kP.ng.t	KiwNa	84k;	21-k;	MFk;.	me;j	,U	vz;fSk;	

1:4	vd;w	tpfpjj;jpypUe;jhy;	mtw;wpy;	kpfg;nghpa	vz;

	 LCM = 84, HCF = 21
 tpfpjk; = 1:4
 me;j	vz;fs; = 1 × 21, 4 × 21
  = 21, 84
 nghpa	vz; = 84

19.	 %d;W	vz;fspd;	kP.ng.t	12	MFk;.	me;j	vz;fs;	1	:	2	:	3	vd;w	tpfpjj;jpy;	

cs;sJ.	me;j	vz;fis	LCM fhz;f.

	 LCM  =  12, tpfpjk;   =  1:2:3
 LCM  =  tpfpjq;fspd;	LCM × HCF
 LCM  = 6 ×12  = 72.

20.	 138	 kw;Wk;	 182	 Mfpa	 vz;fis	 ve;j	 kPg;ngU	 vz;zhy;	 tFj;jhy;	 kPjp	 3	

kw;Wk;	2	fpilf;Fk;.

	

1 3 8
3

1 3 5 	 	 	

1 8 2
2

1 8 0

	 HCF (135, 180) = 45
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21.	 204>	1190>	1445	-d;	HCF fhz;f	

	

1445
1190

255 1190
 1020

   170 255
  170
    85     170
             170
   0 

1190

 HCF (1190, 1445)  =  85

 

204
170

  34 85
 68

  17 34
  34
   0

85

 HCF = (204, 1190, 1445)  =  17
	

22.	 %d;W	njhl;bfspy;	jz;zPh;	135yp>	205yp>	165yp	vd	epug;gl;Ls;sJ.	mjpf	

gl;rkhf	mstplg;gLk;	me;jj;	njhl;bfspd;	nfhs;ssit	fhz;f.

	

5135, 205, 165

27, 41, 33

	 HCF = 5ypl;lh;

23.	 ,U	vz;fs;	 5:7	vd;w	tpfpjj;jpy;	cs;sd.	me;j	,U	vz;fspd;	 LCM140	

vdpy;	me;j	vz;fspd;	HCF-I	fhz;f.

	 LCM  =  tpfpjq;fspd;		LCM ×    HCF
 140  =  35   ×  HCF
           4  =  HCF
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24.	 kP.ngh.t.	fhz;f.	889>	1651

	

1651
889

  762 889
 762

 127 762
  762
   0

889

	 HCF = 127

25.	 kP.ngh.t.	fhz;f	876>	1679

	

1679
876

  803 876
 803

  73 803
  803
   0

876

	 HCF = 73

gapw;rp	tpdhf;fs;

�.	 ��x�	y�	z�,	�2x2	y�	z2	HCF fhz;f

	 HCF = 3x2 y3 z2

2.	 �x2	y	z�,	2�x2	y�	z�	HCF fhz;f

	 HCF = 7x2 y z3

�.	 x2y,	x�	y	HCF fhz;f

	 HCF = x2 y
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�.	 x�	y2,	xyz	LCM fhz;f

	 x3 y2, xyz
 LCM = x3 y2 z

2.	 �x2	y�	z,	�x�y�	LCM fhz;f

	 (3x2 y z, 4x3 y3)
 LCM = 12x3 y3 z

�.	 am+�,		am+2,	am+�	LCM fhz;f

	 am+1,  am+2, am+3

 LCM  =  am+3

�.	 x2y	+		xy2,	(x2	+	xy)	LCM fhz;f

	 x2y +  xy2 = xy (x + y)
 x2 +  xy = x (x + y)
        LCM =   xy (x + y)

�.	 �(a	–	�),	2(a	–	�)2,	(a2	–	�)	LCM fhz;f

	 	 = 3(a – 1)
 2(a – 1)2  = 2 (a – 1) (a – 1)
        (a 2 – 1)  =   (a + 1) (a – 1)
      LCM =   6 (a – 1) 2 (a + 1)

�.	 ,U	gy;YWg;Gf;	Nfhitfspd;	kP.ngh.t.	kw;Wk;	kP.ngh.k	KiwNa	x	+	�	kw;Wk;	

x�	–	�	NkYk;>	xU	gy;YWg;Gf;	Nfhit	x�	+	�	vdpy;>	kw;nwhd;iwf;	fhz;f.

	 x × y = HCF × LCM    a6 – b3 = (a3 + b3) (a3 – b3)
 (x3 + 1) × y = (x + 1) (x6 – 1)

             y = 
3 3

3

( 1)(x 1)(x 1)
( 1)

x
x

+ − +
+

             y = (x + 1) (x3 – 1)



��
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8.	 gpd;;tUk;	xt;nthU	N[hb	gy;YWg;Gf;	Nfhitfspd;	kP.ngh.k.	fhz;f.	

	 x2	–	�x	+	�,	x2	+	�x	–	�2	,tw;wpd;	kP.ngh.t.	x	–	2.
	 x × y = HCF × LCM
 (x2 – 5x + 6) + (x2 + 4x – 12) = (x – 2) × LCM
 (x – 3) (x – 2) (x + 6) (x – 2) = (x – 2) × LCM
 (x – 3) (x + 6) (x – 2) = LCM

•••


